Assignment
Factor each completely.

1) 3xy — 24x* — 7y + 56x

3) 64xy + 56X — 48y — 42X

5) Suv+u+10v+2

7) 24xy + 30x + 28y* + 35y

9) 3xy+x+3y+1

11) 12xy —42x + 20y — 70
13) 192xy — 160x* — 168y + 140x
15) 16xy — 10X — 56y? + 35y
17) 35xy +5x+49y +7

19) 144uv +240u — 126v — 210
21) 8uv+40u—3v-15

23) 3xy —9x* + 7y — 21x

2 gegsus. path-worsheet.ory

Name

ID: 1

Date Period

2) 120uv + 192u + 100v + 160
4) 56mn —32m —49n + 28

6) 5xy+5x—15y—15

8) 20uv — 15u — 32v? + 24v
10) 16ab +2a — 40b* — 5b
12) 28mn + 56m? +49n + 98m
14) 32ab-24a—-24b+ 18
16) 3mn—2Im+ 8n—56

18) 343xy —245x —98y + 70
20) 49xy + 35x — 7y* — 5y
22) 7xy + 35x —2y* — 10y

24) 5uv + 35u—3v-—21
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Answers to Assignment (ID: 1)

1) (3x—7)(y - 8x) 2) 4(6u+5)(5v +8) 3) 2(4x —3)(8y + 7x) 4y (8m—7)(7n - 4)

5) (u+2)(5v+1) 6) 5(x—3)(y+1) 7) (6x+7y)(4y +5) 8) (5u—8v)(4v —3)
9) (x+1)(3y+1) 10) (2a—5b)(8b+1) 11) 2(3x+5)(2y - 7) 12) 7(4m + 7)(n +2m)
13) 4(8x—7)(6y—5x)  14) 2(4a-3)(4b-3) 15) (2x—7y)(8y - 5) 16) (3m+8)(n—7)
17) (5x+7)(7y +1) 18) 7(7x —2)(7y - 5) 19) 6(8u—7)(3v +5) 20) (7x-y)(7y +5)
21) (8u - 3)(v + 5) 22) (7x - 2y)(y + 5) 23) (3x + 7)(y - 3x) 24) (Su - 3)(v + 7)
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Assignment
Factor each completely.

1) 35ab + 30a + 7b* + 6b

3) 175xy +200x + 70y + 80
5) 16mn+20m+ 12n + 15
7) 35xy+7x+ 15y +3

9) 48xy — 40x* — 30y + 25X
11) 14xy + 7x+4y+2

13) xy—3x—8y+24

15) 24uv + 3u—64v —8

17) 175xy +210x —25y - 30
19) 336Xy — 240X — 280y + 200
21) 15xy +20x -6y —38

23) 25xy — 10x — 40y> + 16y?

2 gegsus. path-worsheet.ory

Name

ID: 2

Date Period

2) 63ab—21a’ —42b + 14a
4) 60xy —48x — 45y + 36

6) Smn-2m+15n—-6

8) 12xy — 18x —2y? + 3y
10) 14uv +49u — 2v* — 7v
12) uv —u?-3v+3u

14) 15xy — 25x —21y? + 35y
16) ab—5a+8b—40

18) 30ab — 6a— 105b* +21b
20) 9mn—-3m+2In—-7

22) 8mn — 16m?* + 40n — 80m

24) 25xy —30x — 15y + 18
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1) (5a+h)(7b+6)
5) (4m +3)(4n +5)
9) (8x—5)(6y - 5x)
13) (x—8)(y—3)
17) 5(7x—1)(5y + 6)
21) (5x-2)(3y+4)

Answers to Assignment (ID: 2)

2) 7(3a—2)(3b—a)
6) (m+3)(5n-2)

10) (7u—v)(2v +7)
14) (5x—7y)(3y -5)
18) 3(2a—7b)(5b - 1)
22) 8(m+5)(n—2m)

2 gagsgs path-wersheeh.ory

3) 5(5x+2)(7y +8)
7) (7x+3)(5y +1)
11) (7x+2)(2y +1)
15) (3u—38)(8v+1)
19) 8(6x—5)(7y - 5)
23) (5x-8y?)(sy-2)

4y 3(4x—3)(5y - 4)
8) (6x - y)(2y - 3)
12) (u=3)(v-

16) (a+8)(b - )
20) (3m+7)(3n—1)
24) (5x-3)(5y—6)
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Assignment
Factor each completely.

1) 5uv+ 8u—10v? — 16v

3) 15uv—-5u—12v+4

5) 16Xy — 24x — 16y* + 24y
7) 7xy — 56X + y* — 8y

9) 7ab—-14a+3b-6

11) 4mn+m+28n? +7n
13) 21xy — 56x +9y — 24
15) 36uv — 12u+ 6v—2

17) 24uv — 60u — 16v* + 40v
19) 35xy — 25x — 56y + 40
21) 84xy — 140x* — 24y + 40x

23) 2Ixy+7x+ 15y +5

2 gegsus. path-worsheet.ory

Name

ID: 3

Date Period

2) 48xy + 12x— 112y —28

4) 14xy —21x—-4y+6

6) 14uv+21u—10v—15

8) 240ab — 280a’ — 144b + 168a
10) 72xy — 45x* + 192y — 120x
12) 16mn—6m+8n—3

14) 3xy — 8x — 24y + 64

16) 28xy — 21x* — 32y + 24x
18) 280xy —320x + 392y — 448
20) 21ab —35a + 24b — 40

22) 18ab + 15a + 6b> + 5b?

24) 6ab — 48a + 4b — 32
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1) (u—2v)(5v+38)
5) 8(x - y)(2y - 3)
9) (7a+3)(b-2)
13) (7x+3)(3y - 8)
17) 4(3u—2v)(2v->5)
21) 4(7x-2)(3y - 5x)

Answers to Assignment (I1D: 3)

2) 4(3x-7)(4y +1)
6) (7u—5)(2v +3)

10) 3(3x + 8)(8y — 5x)

14) (x-8)(3y —8)
18) 8(5x+7)(7y - 8)
22) (3a+b?)(6b +5)

3) (5u—4)3v-1)
7) (1x+y)y-38)
11) (m+7n)(4n +1)
15) 2(6u+1)(3v - 1)
19) (5x—8)(7y —5)
23) (7x+5)By+1)

4) (7x-2)(2y - 3)
8) 8(5a—3)(6b - 7a)
12) (2m +1)(8n - 3)
16) (7x —8)(4y — 3x)
20) (7a+8)(3b—5)
24) 2(3a+2)(b - 8)
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Assignment
Factor each completely.

1) 160mn —200m? —20n + 25m
3) 5mn+30m—-4n-24

5) 24xy +40x—21y - 35

7) xy +3x* —y—3x

9) 6xy+8x—3y—4

11) 16xy + 12x* + 20y + 15x
13) 20xy —25x + 12y — 15

15) 49mn +42m — 56n — 48
17) 30xy — 12x =5y +2

19) 112mn +42m? + 56n +21m
21) 5xy +2x+25y+10

23) uv + 5u® + 7v + 350°

2 gegsus. path-worsheet.ory

Name

ID: 4

Date Period

2) 84xy — 126x + 72y* — 108y
4) Xy +4x—8y—32

6) 9uv +21u® + 21v + 49u

8) 8uv—8u+Vv:—v

10) 15ab — 5a+ 12b* —4b

12) 96ab — 84a* + 128b — 112a
14) 49xy + 14x — 42y* — 12y
16) 15ab +24a — 120b — 192
18) 56xy + 98x* — 40y — 70x
20) 2xy — 3x — 16y? + 24y

22) 120xy — 90X + 48y*> — 36y?

24) 6xy +21x—4y—14
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Answers to Assignment (ID: 4)

1) 5(8m—1)4n-5m)  2) 6(7x+6y)(2y —3) 3) (5m—4)(n+6) 4y (x—8)(y+4)

5) (8x—7)(3y +5) 6) (3u+7)(3v +7u) 7) (x—1)(y +3x) 8) (8u+v)(v-1)

9) (2x-1)(3y +4) 10) (5a+4b)(3b—1) 11) (4x+5)(4y + 3x) 12) 4(3a+4)(8b - 7a)
13) (5x+3)(4y - 5) 14) (7x—6y)(7y +2) 15) (7m—8)(7n +6) 16) 3(a—8)(sb + 8)
17) (6x—1)(5y-2) 18) 2(7x—5)(4y+7x)  19) 72m+1)(8n+3m)  20) (x-8y)(2y-3)
21) (x+5)(5y+2) 22) 6(5x+2y*)(4y-3)  23) (u+7)(v+5u?) 24) (3x-2)(2y +7)
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Assignment
Factor each completely.

1) 42ab — 35a+ 30b* - 25b
3) 56xy —35%° — 40y + 25X
5) 30ab+5a—-6b—1

7) 288xy + 336X — 240y — 280
9) 64Xy + 64x + 56y° + 56y>
11) 28xy + 35x — 4y° — 5y?
13) 21xy + 63x+ 6y + 18

15) 10ab—5a—16b+38

17) 125xy — 75x — 25y* + 15y
19) 100xy + 140%* + 40y + 56X
21) 25ab + 35a + 5h* + 7b?

23) 4mn—7m—8n+ 14

2 gegsus. path-worsheet.ory

Name

ID: 5

Date Period

2) 4xy —x—12y+3

4) 10ab —6a +25b— 15

6) 25mn —20m +20n — 16
8) 150mn + 90m?* — 240n — 144m
10) 30xy + 36X + 25y? + 30y
12) 24uv + 56u—21v —49
14) 21uv —105u+3v—15
16) 5xy + 6x° + 10y + 12X
18) 7ab —49a + 28b* — 196b
20) 60mn + 105m + 36n + 63
22) 20xy — 32x* + 35y — 56X

24) 35xy +49x — 10y — 14
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Answers to Assignment (ID: 5)

1) (7a+ 5b)(6b - 5) 2) (x-3)(4y-1) 3) (7x-5)(8y — 5x) 4) (2a+5)(5b-3)

5) (5a—1)(6b + 1) 6) (5m+4)(5n—4) 7) 8(6x—5)(6y +7) 8) 6(5m —8)(5n +3m)
9) 8(8x+7y*)(y+1) 10) (6x+5y)(5y +6) 11) (7x—y?)(4y +5) 12) (8u—7)(3v+7)
13) 3(7x +2)(y +3) 14) 3(7u+1)(v-75) 15) (5a—8)(2b—1) 16) (x +2)(5y + 6x)
17) 5(5x - y)(s5y - 3) 18) 7(a + 4b)(b - 7) 19) 4(5x+2)(5y+7x)  20) 3(5m+3)(4n+7)
21) (5a+b?)(5b +7) 22) (4x+7)(5y — 8x) 23) (m-2)(4n-7) 24) (7x-2)(5y+7)
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Assignment
Factor each completely.

1) 16xy +20x + 28y? + 35y
3) 35xy +21x—40y—24
5) 12ab—8a’ —3b +2a

7) 16xy —24x —6y* +9y?
9) 6ab+ 16a—21b—56
11) 10mn—25m+6n-—15
13) —17mn + 28m? - 3n?
15) 32mn—8m—28n+7
17) 10xy — 8x—35y +28
19) 336xy — 280x — 144y + 120
21) 20xy — 5%* + 28y — 7x

23) 28ab+35a—-4b-5

2 gegsus. path-worsheet.ory

Name

ID: 6

Date Period

2) 25xy —20x +40y — 32
4) Tuv—4u—-21v+12

6) 42uv — 24u —336v + 192
8) 3xy +2x— 12y° — 8y?
10) 16xy + 56x + 6y + 21
12) 6xy +21x+ 8y + 28
14) 9xy + 6x* — 3y — 2X
16) 20xy + 15X+ 8y + 6
18) 258uv + 36u” + 252v?
20) 28UV + 49u — 24v° — 42v?
22) 40xy — 8x+35y—7

24) 40ab — 56a — 35b + 49
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1) (4x+7y)(4y+5)
5) (4a—1)(3b-2a)
9) (2a-7)(3b+38)
13) (4m —3n)(n +7m)
17) (2x-7)(5y —4)
21) (5x+7)(4y-x)

Answers to Assignment (I1D: 6)

2) (5x+8)(s5y - 4)

6) 6(u—8)(7v—4)
10) (8x+3)(2y +7)
14) (3x-1)(3y +2x)
18) 6(6u + 7v)(6v + u)
22) (8x+7)(5y-1)

&7 osgsgs ath-vsrisheel.crg

3) (7x—8)(5y+3)
7) (8x-3y*)(2y

11) (5m+3)(2n )
15) (8m—7)(4n—1)
19) 8(7x — 3)(6y 5
23) (7a—1)(4b +5)

)

4) (u-3)(7v-4)

8) (x—4y’)(3y+2)
12) (3x+4)(2y +7)
16) (5x +2)(4y +3)
20) (7u—6v2)(4v+7)
24) (8a—-7)(5b—7)
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Assignment
Factor each completely.

1) 4mn—3m +24n - 18

3) 126xy — 90x — 336y? + 240y
5) 84mn — 60m? + 1050 — 75m
7) 9xy — 12x° — 12y + 16x*

9) 4xy +8x+5y+10

11) 8uv + u—40v? — 5v

13) S6ab - 16a+21b—-6

15) 56xy + 7x—32y—4

17) 4mn+m? + 16n + 4m

19) 5xy—15x -7y +21

21) 56xy +40x — 392y — 280

23) 6Xy +2Xx+3y+1

2 gegsus. path-worsheet.ory

Name

ID: 7

Date Period

2) 1l4xy+21x—4y—-6

4) 42mn—252m+ 18n* — 108n°
6) 4xy + 7x—12y—21

8) 18uv +3u—42v? —7v

10) Sxy —3x+20y—12

12) 256Xy + 96X + 32y + 12
14) 98ab + 28a’* — 245b — 70a
16) 6xy — 42x — 48y° + 336y
18) 30mn + 6m — 180n — 36
20) 28mn + 8m + 7n +2n

22) Txy —4x + 14y* — 8y

24) 15uv +25u + 24v + 40
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Answers to Assignment (ID: 7)

1) (m+6)(4n-3) 2) (7x-2)(2y +3) 3) 6(3x—8y)(7y —5) 4) 6(7m +3n°)(n—6)
5) 3(4m+5)(7n-5m)  6) (x-3)(4y+7) 7) (3x-4)(3y - 4x?) 8) (3u—7v)(6v +1)
9) (4x+5)(y+2) 10) (x +4)(5y - 3) 11) (u—5v)(8v +1) 12) 4(8x+1)(8y +3)
13) (8a+3)(7b-2) 14) 7(2a-5)(7b+2a)  15) (7x—4)(8y +1) 16) 6(x — 8y?*)(y - 7)
17) (m+4)(4n +m) 18) 6(m—6)(5n + 1) 19) (5x-7)(y -3) 20) (4m +n)(7n +2)
21) 8(x—7)(7y +5) 22) (x+2y)(7y - 4) 23) (2x+1)(3y +1) 24) (5u+8)(3v+5)
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Assignment
Factor each completely.

1) 7xy —35x—-y+5

3) 5xy +30x° — 7y — 42x°

5) 20ab — 28a + 35b* — 49b°
7) 245ab + 140a + 147b* + 84b
9) 28xy + 32x+ 35y +40

11) 2xy + x+ 14y +7

13) 16xy + 28x* — 28y — 49x
15) 12uv —9u +28v —21

17) 64xy — 8x° —40y* + 5yx*
19) 24xy —32x —21y + 28
21) 48ab — 30a + 8b* — 5b

23) 5mn + 8m + 40n + 64

2 gegsus. path-worsheet.ory

Name

ID: 8

Date Period

2) 320uv —200u® + 192v — 120u
4) 5xy —x+5y-1

6) 56xy + 35x —24y—15

8) 20mn + 5m? — 12n —3m

10) 343mn +49m + 245n + 35
12) 64xy — 8x* + 40y — 5X

14) 168uv + 196u? + 126V + 147u
16) 10xy —2x+35y—-7

18) 96xy + 32x> + 120y? + 40yx>
20) 56ab —49a + 32b* — 28b°
22) 6xy — 16X* + 15y — 40x

24) 25xy —40x — 40y + 64
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Answers to Assignment (I1D: 8)

1) (7x-1)(y-5) 2) 8(5u+3)(8v - 5u) 3) (5x—7)(y + 6x%) 4y (x+1)(5y-1)
5) (4a+ 7b%)(5b - 7) 6) (7x—3)(8y +5) 7) 7(5a+ 3b)(7b + 4) 8) (5m—3)(4n+m)
9) (4x+5)(7y +8) 10) 7(7m +5)(7n +1) 11) (x+7)(2y+1) 12) (8x+5)(8y —x)
13) (4x - 7)(4y +7x) 14) 7(4u+3)(6v+7u)  15) (3u+7)(4v-3) 16) (2x+7)(5y —1)
17) (8x—5y)(8y—x*)  18) 8(4x+5y)(3y +x?) 19) (8x-7)(3y—4)

20) (7a+4b3)(8b—7)  21) (6a+b)(8b-5) 22) (2x+5)(3y — 8x) 23) (m +8)(5n +8)
24) (5x-8)(5y - 38)
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Assignment
Factor each completely.

1) 14xy —70x + 16y — 80

3) 40xy — 15x -8y +3

5) 42xy + 12x* + 35y + 10x
7) 336Xy — 240X +210y* — 150y
9) 14uv+7u—4v-2

11) 60ab + 72a + 80b + 96
13) 24xy —9x + 56y — 21
15) 5xy +4x+20y+ 16

17) 8xy + 48X — 64y? — 384y
19) 15xy — 12x—90y + 72
21) 42xy — 18x —49y + 21

23) 9xy —21x— 63y + 147

2 gegsus. path-worsheet.ory

Name

ID: 9

Date Period

2) 84mn +70m® — 48n — 40m?
4) 27xy — 14x* + 20y

6) 14uv — 16u? + 35v — 40U

8) 37xy + 10x* + 7y?

10) 49xy +294x* — 14y — 84x
12) 150ab — 120a* + 60b — 48a
14) 40mn —56m + 35n% —49n
16) 10mn —5m> +2n—-m?

18) 16xy + 10x> + 48y + 30%*
20) l4uv + 49u + 2v2 + 7v

22) 12xy + 10x* + 18y° + 15y*x

24) 42uv —6u—49v + 7
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Answers to Assignment (I1D: 9)

1) 2(7x +8)(y - 5) 2) 2(7m—4)(6n+5m?)  3) (5x—1)(8y —3) 4y (7x +4y)(5y - 2x)
5) (6x+5)(7y + 2x) 6) (2u+5)(7v - 8u) 7) 6(8x +5y)(7y - 5) 8) (2x+7y)(y + 5x)
9) (7u-2)(2v+1) 10) 7(7x —2)(y + 6x) 11) 4(3a+4)(5b+6) 12) 6(5a+2)(5b — 4a)
13) (3x+7)(8y —3) 14) (8m+7n)(5n—7) 15) (x +4)(5y +4) 16) (5m+1)(2n - m?)
17) 8(x - 8y)(y +6) 18) 2(x +3)(8y +5x3)  19) 3(x-6)(5y —4) 20) (7u+v)(2v+7)
21) (6x—7)(7y -3) 22) (2x +3y?)(6y + 5x) 23) 3(x-7)(3y -7)

24) (6u—7)(7v—-1)
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Assignment
Factor each completely.

1) 18xy — 12x* — 45y + 30x
3) l14ab-14a+6b-6

5) 40mn + 35m +24n* + 21n
7) 12mn+3m+ 84n + 21

9) 15xy +40x> — 6y — 16x*
11) 5uv + 7u + 35v? + 49v
13) 14xy +2x+35y+5

15) 24ab - 168a— 15b + 105
17) Txy+x+21y+3

19) 56mn + 35m + 24n + 15
21) 12xy — 10x+ 6y —5

23) 224mn —56m — 160n + 40
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Name

ID: 10

Date Period

2) 240ab — 90a* — 200b + 75a
4) 84xy — 96X — 42y + 48

6) 24xy+ 16x—-3y—-2

8) 192xy +240x + 32y + 40
10) 4xy —6x— 10y + 15

12) 21xy — 35X+ 3y* -5y
14) 35uv — 49u® — 140v + 196u
16) 38xy + 7x* + 15y?

18) 7ab+ 14a+3b+6

20) 120xy + 192x* + 105y + 168x°
22) 15xy — 8x* — 7y?

24) 96xy —24x — 16y +4
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1) 3(2x-5)(3y - 2x)
5) (5m +3n)(8n +7)
9) (5x-2)(3y +8x?)
13) (2x+5)(7y + 1)
17) (x+3)(7y +1)
21) (2x+1)(6y —5)

Answers to Assignment (ID: 10)

2) 5(6a—5)(8b - 3a)
6) (8x—1)3y+2)
10) (2x-5)(2y -3)
14) 7(u—4)(5v - 7u)
18) (7a+3)(b+2)
22) (8x=7y)(y-x)

A dsss-mabh-werhsheeh.ory

3) 2(7a+3)(b-1)

7) 3(m+7)(4n+1)
11) (u+7v)(5v +7)
15) 3(8a—5)(b—7)
19) (7m +3)(8n +5)
23) 8(7m-5)(4n—-1)

4y 6(2x—1)(7y - 8)

8) 8(6X + 1)(4y + 5)
12) (7x+y)(3y - 5)
16) (x + 5y)(3y + 7x)
20) 3(8x +7)(5y + 8x°)
24) 4(6x—1)(4y - 1)
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